TABLE OF CONTENTS

SHT NO.

DESCRIPTION

COVER PAGE

OVERALL DIMENSIONS

WALL CABINET ASSEMBLY

BASE CABINET ASSEMBLY

BASE CABINET ASSEMBLY CONT.

CABINET CARCASS PARTS

CABINET CARCASS PARTS CONT.

FACE FRAME ASSEMBLIES

FACE FRAME PARTS

DRAWER BOX ASSEMBLY

DRAWER PARTS

DRAWER PARTS CONT.

RAISED PANEL DOOR ASSEMBLY

GLASS INSERT DOOR ASSEMBLY

Al ol N oo |w|(hd|—

RAISED PANEL DOOR PARTS
SHEET LAYOUT 1
SHEET LAYOUT 2
1
pr—_——— — -
= T
L]

MK

* % %
est. 2013

www.woodshopmike.com
mike@woodshopmike.com

CORNER CABINET SET AND
RAISED PANEL DOORS

WATCH THE BUILD VIDEQ!

i
iy
Ell:ﬂ

www.woodshopmike.com
mike@woodshopmike.com

m i
(2} 22
= O\
o L
= ol
= %E
i n| <
[7p] | =
o oz
Ly =
D o

<O W

O T

5SS o

Z w

x= >

O< O

oo O > |a
i i m|=
= =

: 2 Tk
— (O] < S
Q Z 03
= = =
(@] < o
£ & ¥

MATER'ALS (per door)

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

ITEM QTY
1/2" PLYWOOQD 4'X8' 3 SHEETS
1/4 PLYWOOD 4'X8' 1/4 SHEET
4/4 HARDWOOD OF CHOICE 27 BF
GLUE 32 0z
1-1/2" BRAD NAILS ~25
1-1/4" POCKET HOLE SCREWS ~50
3/4" POCKET HOLE SCREWS ~100
EURO HINGE 8
ACCURIDE ECLIPSE DRAWER SLIDE 14" 1 SET
GLASS RETAINER CLIPS 24
FINISH OF CHOICE 1 QUART

SHT. NO:

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




ACCURIDE ECLIPSE UNDERMOUNT SOFT CLOSE

HARDWARE FOR CENTER DRAWER.

SOFT CLOSE EURO STYLE HINGES TO BE USED.

** SPACING WILL VARY DEPENDING ON CEILING HEIGHT.

")

41 1/4"

**18 3/4"

35"
(not including counter top)

~ 4918 ————

*OPTIONAL*
DOORS TO HAVE
GLASS CENTER PANEL

bk

www.woodshopmike.com
mike@woodshopmike.com

DESCRIPTION
INITIAL RELEASE

BY
MP

9-30-2021

PROJECT NAME: CORNER CABINET SET AND RAISED
PANEL DOORS

DRAWING NAME: OVERALL DIMENSIONS

REV | DATE

00

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




STEP 1

SCREW THREE OF PART 2
TO PART 1 AS SHOWN USING
3/4" POCKET HOLE SCREWS.

POCKET HOLES
FACING UP

POCKET HOLES

ALONG OUTSIDE

EDGE OF THIS PIECE

POCKET HOLES
FACING DOWN

(FILL HOLES WITH
METHOD OF CHOICE)

18 1/4"

CABINET RIGHT SIDE
FLUSH WITH CORNER
OF

STEP 2

SCREW PARTS 1, 2, AND 3
TOGETHER AS SHOWN USING
3/4" POCKET HOLE SCREWS.

STEP 3

SCREW WALL CABINET FACE FRAME (see pg 5-6)
TO CABINET AS SHOWN USING
3/4" POCKET HOLE SCREWS.

|

bk

www.woodshopmike.com
mike@woodshopmike.com

DESCRIPTION
INITIAL RELEASE

BY
MP

9-30-2021

PROJECT NAME: CORNER CABINET SET AND RAISED
PANEL DOORS

DRAWING NAME: WALL CABINET ASSEMBLY

REV | DATE

00

— 1/8"

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




STEP 1

SCREW ONE OF PART 2
TO PART 4 AS SHOWN USING
3/4" POCKET HOLE SCREWS.

— 4 1/4"

STEP 2

SCREW PARTS 2, 4, AND 5
TOGETHER AS SHOWN USING
3/4" POCKET HOLE SCREWS.

STEP 3

SCREW PARTS 6 AND 7 TO
PARTS 4 AND 5 AS SHOWN USING
3/4" POCKET HOLE SCREWS.

10 1/4"

bk

www.woodshopmike.com
mike@woodshopmike.com

Q w
n =N
= <
= O\
=
o oW
= > =Y
<< a_:' o4
o= P
S =
b2 0z
Zy
O L
<OZ
OS5 m
ro <
Al
22 8
oo m > o
i g m|=
Z = S
z Z Ml s
= O <|d
Q Z 03
S = =
(@] < o
x h'd D:O
o (m)

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




v

STEP 4

SCREW BASE CABINET FACE FRAME (see pg 5-6)
TO PARTS 4, 5, AND 6 AS SHOWN USING
3/4" POCKET HOLE SCREWS.

SCREW PART 8 TO PART 2
AS SHOWN USING
3/4" POCKET HOLE SCREWS.

STEP 5

SCREW PART 9
TO PARTS 4, 5, AND FACE FRAME

AS SHOWN USING 3/4" POCKET HOLE SCREWS.

bk

www.woodshopmike.com
mike@woodshopmike.com

a _ w
52 g8
X O 95
a © Ko
= > =
<< a—al ﬂ:_l
T 3|2
2 » g':
w 2 Z
Z

oo W

<o =

OS5 m

o <

Al

gz 2

Oh & > o
i g m|=
<§E < Wl &
z Z E|S
= O <o
Q Z 03
S = =
(@] < o
x o D:O
o (m)

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




CUT EDGE AT 45° \

41"

PART: 1

~—33316" ———

MTR'L: 1/2" PLYWOOD

QTY: 1

CUT EDGE AT 45° \\

POCKET HOLES
‘,///ﬁiALONGEDGE

SPACED 4"-6" APART

p%

~——33316" — =

~—41/4"

!

45° THIS EDGE

41/4"

/

%

PART: 4
MTR'L: 1/2" PLYWOOD
QTY: 1

POCKET HOLES
ALONG EDGE
SPACED 4"-6" APART

41"
23 1/8" \45 ° THIS EDGE
L——461/ —J ~——3311/16" —
PART: 2 PART: 3
MTR'L: 1/2" PLYWOOD MTR'L: 1/2" PLYWOOD
QTY: 4 QTyY: 1
/CUT EDGE AT 45°
414" —=— =
~——23311/16"
POCKET HOLES
ALONG EDGE
SPACED 4"-6" APART 35"
41/4" 45° THIS EDGE
PART: 5

CUT EDGE AT 45° \\

bk

www.woodshopmike.com
mike@woodshopmike.com

MTR'L: 1/2" PLYWOOD

QTY: 1

Q w
n =N
= <
= O\
a L
2 oW
~| X
= 4
— 2’4 ol
L < n| <
[7) % wle=
5,2 |°F
=%
22
S °
UJ_.E
su 2
oz 2
OCLO > |a
i g m|=
<§( < Wl &
z Z E|S
= O <o
5 £ 2%
S =
0O = oo
x o D:O
o (m)

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




NOTE: DRILL 2-3 MICRO POCKET HOLES FOR 3/4" LONG
MICRO POCKET HOLE SCREWS AT BOTH ENDS OF
EACH PIECE.

2X 15°

!

- s

PART: 6
MTR'L: 1/2" PLYWOOD
QTY: 1

2X 45°

[

— 3112
L 18 3/4" J

PART: 7
MTR'L: 1/2" PLYWOOD
QTY: 1

2X 45°
L

<

~—425[8" =

—31/2"

—41/4"

PART: 8
MTR'L: 1/2" PLYWOOD

bk

www.woodshopmike.com
mike@woodshopmike.com

DESCRIPTION
INITIAL RELEASE

BY
MP

9-30-2021

PROJECT NAME: CORNER CABINET SET AND RAISED
PANEL DOORS
DRAWING NAME: CABINET CARCASS PARTS CONT.

REV | DATE

00

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of

QTY: 1
*




NOTE: CUT BACK SIDE OF FACE FRAMES

AT 45° TO BE FLUSH WITH CABINET SIDES.

ASSEMBLE FACE FRAME WITH 1-1/4" POCKET HOLE SCREWS

&

\@

@

~—— 4912

41 1/4"

191/2"

——{203/4" ——

|

(16 3/4")

bk

www.woodshopmike.com
mike@woodshopmike.com

~ 41—

DESCRIPTION
INITIAL RELEASE

BY
MP

9-30-2021

PROJECT NAME: CORNER CABINET SET AND RAISED
PANEL DOORS

DRAWING NAME: FACE FRAME ASSEMBLIES

REV | DATE

00

WALL CABINET FACE FRAME ASSEMBLY
MTR'L: 3/4" THICK HARDWOOD

QTY: 1

(712"

B

19" ——{203/4" ——

BASE CABINET FACE FRAME ASSEMBLY
MTR'L: 3/4" THICK HARDWOOD
QTY: 1

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




212" —=— |=—

411/4"

PART: 10
MTR'L: 3/4" THICK HARDWOOD
QTY: 2

212" —=— =

31“
PART: 14
MTR'L: 3/4" THICK HARDWOOD
QTY: 2

11/2" —= (=
2" ——
™ M
2 POCKET HOLES
IN EACH END 2 POCKET HOLES
IN EACH END
3" —— (-
44 1/2" 44 1/2"
_‘
" 2 POCKET HOLES
19112 IN EACH END
v I |/
PART: 11 PART: 12 PART: 13
QTY: 1 QTY: 5 QTy: 1
3" —— (-
{ _‘
19" 2 POCKET HOLES
IN EACH END
l LA

PART: 15

MTR'L: 3/4" THICK HARDWOOD

QTY: 1

bk

www.woodshopmike.com
mike@woodshopmike.com

a w
n =N
= <
= O\
a L
S o
= x| X
m P
wn E U_]E
TR
=%
mg:$
39 =

Q =
DCDD:
zo &

Ll

5z ©
Oa I > o
i g m|=
<§E < Wl &
z Z E|S
G
o = o)
S = =
(@] < o
x h'd D:O
o (m)

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




v

STEP 1

SCREW TWO OF PART 19
TO PARTS 16 AS SHOWN
USING 3/4" POCKET HOLE SCREWS.

POCKET HOLES
FACE OUT

STEP 3

GLUE AND BRAD NAIL PARTS 17 AND 18
TO PART 19 AS SHOWN.

\/

,_‘ ’,,
|

|~ L]
NOTCH THIS AREA FOR CLEARANCE OF

DRAWER SLIDE HARDWARE IF NECESSARY.

STEP 2

SLIDE PART 20 INTO GROOVE
IN PARTS 16 AND 19

STEP 4

ATTACH DRAWER FRONT (PART 21) CENTERED ON
DRAWER BOX AND OFFSET FROM THE

BOTTOM OF THE DRAWER BOX AS SHOWN.

(see build video for drawer slide modification and install)

!

A
— 13/16"

bk

www.woodshopmike.com
mike@woodshopmike.com

DESCRIPTION
INITIAL RELEASE

BY
MP

9-30-2021

PROJECT NAME: CORNER CABINET SET AND RAISED
PANEL DOORS

DRAWING NAME: DRAWER BOX ASSEMBLY

REV | DATE

00

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

10

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




40"

POCKET HOLES THIS EDGE
DRILL ABOVE GROOVE FOR BOTTOM

PART: 16
MTR'L: 1/2" PLYWOOD
QTY: 1
18 5/8"
2);45°
i 2X 12" —
; ,_
X 17/8" PART: 17

MTR'L: 1/2" PLYWOOD

114" —

!

1/ n

L 12"

STANDARD GROOVE FOR
DRAWER BOTTOM

15 7/8"
2X 4%\
I
5ill
PART: 18

MTR'L: 1/2" PLYWOOD

QTY: 2

312"
45°
i

bk

www.woodshopmike.com
mike@woodshopmike.com

a w
«n 22
= O\
[m) ==
= oy
= %E
m n| <
w UJI:
=w)
28 &
Oon_
o o
g &
0125:
SF x

o > |a
i g m|=
=

< ~
s 2 |uB
= O <o
Q Z 03
S = =
(@] < o
x h'd D:O
a 0

PART: 19
MTR'L: 1/2" PLYWOOD
QTY: 2

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

11

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of

*




!

2X 2 5/8"

131/2"

—ﬁ

r

8 1/4"

40 1/2"

——{(2x107/8")

18 13/16"

PART: 20
MTR'L: 1/4" PLYWOOD
QTY: 1

b

B

PROFILE EDGES AS DESIRED
-

451/2"

PART: 21
MTR'L: 3/4" HARDWOOD

QTY: 1

-

ladslior
B

www.woodshopmike.com
mike@woodshopmike.com

[m)]
w L
(%2} z<<’(>
& =k
2 e
=z E:)E
L E | <
®» 35 W=
L S 0z
=
oL k&
§o<

o a
xo o
£T =
OZ &
OQ.D >—D.
s =
< < WS
z =z E|S
- (O] < S
o =z als
L = <
o = =
x o w8
o a

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

12

*

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




v

NOTE: PROFILE AROUND EDGE OF EACH DOOR TO
BE CUT AFTER DOORS ARE ASSEMBLED.

STEP 1

CENTER RAISED PANEL (part 25) INTO GROOVES OF RAIL (part 22).
DO NOT GLUE PARTS TOGETHER.

T

)

\
@

STEP 2

APPLY A SPARING AMOUNT OF GLUE TO BOTH

ENDS OF EACH RAIL (part 22) AND FINISH ASSEMBLY

AS SHOWN. CLAMP DOOR TOGETHER WITH

ONE CLAMP PARALLEL TO EACH (part 22).

ONCE GLUE HAS CURED, DRILL FOR HINGES OF CHOICE @

\

S

bk

www.woodshopmike.com
mike@woodshopmike.com

] W
« > z|9Q
= = o<
o’ [a4)] =W
a = |
= & o
< N h'd
< 03:'
B
29 alE
TR, Z
Zn 4

oo o

S8 =

go £

Zm o

x= u

o< =

oo > |a
.. . m|=
w L

= z

=z —
zZ 2 S
= O <o
Q Z 03
S = =
(@] < o
x o D:O
o ()]

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

13

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




NOTE: PROFILE AROUND EDGE OF EACH DOOR TO
BE CUT AFTER DOORS ARE ASSEMBLED.

STEP 2

STEP 1

ASSEMBLE DOOR FRAME AS SHOWN WITH

A SPARING AMOUNT OF GLUE TO
THE END OF EACH RAIL (part 22).
CLAMP DOOR TOGETHER WITH

ONE CLAMP PARALLEL TO EACH (part 22).

RABBET CAN BE CUT BEFORE OR AFTER ASSEMBLY.

IF RABBET IS CUT BEFORE ASSEMBLY (like in build video)

FILLER PIECES WILL NEED TO BE ADDED. IF RABBET IS CUT AFTER
ASSEMBLY THE CORNERS WILL NEED TO BE CHISELED OUT.

ONCE GLUE HAS CURED, DRILL FOR GLASS

HOLD DOWN CLAMPS AND HINGES OF CHOICE

PER MFG GUIDELINES.

—— —=— 716"

—7/16"

SECTION B-B

bk

www.woodshopmike.com
mike@woodshopmike.com

] W
« > z|9Q
= = o<
o’ [a4)] =W
a = |
= & o
< N h'd
< ol
TR n| <
2 9 LE
TR, Z
Zn —
QO
39 w
o w
gs 2
Zm @
&2 <
—
oo o > o
i g m|=
<§E < Wl &
z Z E|S
= O <o
e z o8
S = =
(@] < o
x o D:O
o ()]

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

14

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




v

| k— 18 5/8“—ﬂ
ll IJ

TONGUE PROFILE

é\GROOVE PROFILE

PART: 22
MTR'L: 3/4" THICK HARDWOOD
QTY: 8

~ 1978
!

2n |

KGROOVE PROFILE

PART: 23
MTR'L: 3/4" THICK HARDWOOD
QTY: 4

~— 2038

iGROOVE PROFILE

PART: 24
MTR'L: 3/4" THICK HARDWOOD
QTY: 4

DETERMINED BY ROUTER BITS USED.

1/ "m0 |

NOTE: TONGUE AND GROOVE PROFILES WILL BE LARGELY

3/16" —

~—T7/16"

GROOVE PROFILE

| — 1/4"

>

| |

316" —

TONGUE PROFILE

716"

.

bk

www.woodshopmike.com
mike@woodshopmike.com

- 189116" — =

16 11/16"

PART: 25
MTR'L: 5/8" THICK HARDWOOD
QTY: 2

—— 1/4“

—— | 5/8“

m L
(2} zg
= O\
o » =
=z K o
< < o
— o ol
TR n|<
f’_’ o e
TR, =z
Zn

Oy o

S8 =

g &

Zo @

x= u

oOZ =

OCLQ: > |a
i i m|=
= =2

s 2 |ws
= O <o
Q Z 03
S = =
(@] < o
¢ £ |3

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

15

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




MTR'L: 1/2" PLYWOOD

©)

33 11/16" ————

35"

@

333M16" ———

35"

2X 135°

f 23 1/8"

13 1/8"

|

20" IE—

312" —

!

5X 5"

18 5/8"

40"

@

33316" —— = 41"

3

312" —

|

157/8"

i
T

157/8"

i

CICIC)

3311/16" ——=

!

42 58" ————

~—18 3/4" —=—

46 1/4"

; 41/4"
%
——31/2"
——31/2"

IMIKE

"

www.woodshopmike.com
mike@woodshopmike.com

m W
n =N
= <
= O\
= L
2 o
< %E
l_
L n| <
w |_|J}:
TR 0z
Zn
22 3
Ooz
g5 3
Zo
&z W

T
oa & > o
i g m|=
=
: 3 s

=&

52 &
o = o)
S = =
(@] < o
x [a'd D:O
o [m]

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

16

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC

Reproduction of this document without the written authorization of




MTR'L: 1/2" PLYWOOD

4X 46 1/4"

4X231/8"

8X 45°

gt

www.woodshopmike.com
mike@woodshopmike.com

DESCRIPTION
INITIAL RELEASE

BY
MP

9-30-2021

PROJECT NAME: CORNER CABINET SET AND RAISED
PANEL DOORS
00

DRAWING NAME: SHEET LAYOUT 2

REV | DATE

Woodshop Mike, LLC and it's
affiliates are not responsible for any
damages that may come to persons
or properties involved during the
creation or use of this project or
plans. The use of these plans and
construction of this projects is
acknowledgement that you as the
fabricator assume all liability for
proper construction and safe use of
the project through all stages.

SHT. NO:

17

Reproduction of this document without the written authorization of

Woodshop Mike, LLC is strictly prohibited Copyright 2021,Woodshop Mike, LLC




	1
	Drawing View163

	2
	Drawing View1
	Drawing View2

	3
	Drawing View68
	Drawing View69
	Drawing View70
	Drawing View86
	Drawing View87

	4
	Drawing View71
	Drawing View75
	Drawing View78
	Drawing View101

	5
	Drawing View95
	Drawing View97

	6
	Drawing View105
	Drawing View106
	Drawing View107
	Drawing View108
	Drawing View112
	Drawing View113
	Drawing View114
	Drawing View115
	Drawing View116

	7
	Drawing View121
	Drawing View122
	Drawing View123
	Drawing View129

	8
	Drawing View17
	Drawing View23
	Drawing View102
	Drawing View103

	9
	Drawing View3
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16

	10
	Drawing View45
	Drawing View48
	Drawing View49
	Drawing View51
	Drawing View65
	Drawing View160

	11
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View58
	Drawing View60
	Drawing View61
	Drawing View63
	Drawing View64

	12
	Drawing View62
	Drawing View131

	13
	Drawing View135
	Drawing View137

	14
	Drawing View132
	Drawing View141
	Section View B-B

	15
	Drawing View142
	Drawing View145
	Drawing View146
	Drawing View148
	Drawing View150
	Drawing View151
	Drawing View152
	Detail View TOUNGE PROFILE (1 : 1)
	Drawing View154
	Drawing View155
	Drawing View156
	Drawing View157
	Drawing View158
	Drawing View159

	16
	Drawing View4
	Drawing View5

	17
	Drawing View10


